
KIT02586  KIT; HUMAN INTERFACE, REMOTE MOUNT 
 

COMPONENT Description Item 
Proc 

In Date Out Date Qty Major  
CompX13790159010 SENSOR;TEMPERATURE THERMISTOR, 15-

140F, .25 DIA X 2.00 LG 
STKRA
W 

1/24/19
94 

 1 Y 
X19040234000 TERMINAL; STUD, LOCK ON, #10 FORK, 18-14 

AWG, INSULATED 
STKRA
W 

1/24/19
94 

 1 Y 
X19210028140 TIE; WIRE, 1.50-9.00 DIA STKRA

W 
1/24/19
94 

 2 Y 
X19090349010 BOX; HUMAN INTERFACE STKRA

W 
1/24/19
94 

 1 Y 
X19220085020 CONNECTOR, PLUG/SCREW, 3 CKT STKRA

W 
1/24/19
94 

 2 Y 
X22031500000 WASHER;LOCK, EXT. TOOTH #6 STKRA

W 
1/1/198
5 

 4 Y 
X25150026080 SCREW; 6-32 X .50, ROUND HEAD, SLOTTED STKRA

W 
1/24/19
94 

 4 Y 
X25330033200 SCREW, 8-32 X .37 STKRA

W 
1/1/198
5 

 7 Y 
270162070100 BRACKET; H.I. REMOTE MNT STKRA

W 
6/14/19
94 

 1 Y 
X25330035010 SCREW, 10-32 X .50 STKRA

W 
1/24/19
94 

 1 Y 
X19010309630 WIRE; 16 AWG, UL 1230, GRN/YEL STKRA

W 
1/26/20
00 

 12 Y 
270162070200 INSULATION; STKRA

W 
6/30/19
94 

 1 Y 
X25330033030 SCREW; 4-40 X .50 THD ROLL STKRA

W 
1/24/19
94 

 2 Y 
X22040063010 WASHER; CUP, .20ID X .38OD, .078THK, BRASS STKRA

W 
1/24/19
94 

 1 Y 
X19220095010 CONNECTOR, 3 CKT, SCREW TERMINAL STKRA

W 
1/24/19
94 

 1 Y 
X19220085010 CONNECTOR, PLUG/SCREW, 2 CKT STKRA

W 
1/24/19
94 

 4 Y 
X19010309630 WIRE; 16 AWG, UL 1230, GRN/YEL STKRA

W 
12/20/1
999 

1/26/200
0 2:27:00 

1 Y 
X19030141000 WIRE; 16 AWG  UL 1230  GR STKRA

W 
1/24/19
94 

12/20/19
99 

12 Y 
X13650465030 MODULE, LCOI PURGE RETROFIT HUMAN 

INTERFACE (MINUS COVER) 
STKRA
W 

1/22/19
97 

6/18/199
8 6:39:00 

1 Y 
X13650465020 MODULE; PC BOARD/PLATE NLA 1/28/19

94 
1/22/199
7 

1 Y 
X39000671010 LABEL; TRANE 2 X 3 STKRA

W 
11/20/2
001 

 0 N 
X18460001010 BUBBLE-PACK; .1875 X 12.0 STKRA

W 
1/24/19
94 

 0 N 
X18210272010 BAG; 4X5X2MIL W/TRANE STKRA

W 
1/24/19
94 

 0 N 
X18100239020 BOX; RESHIP CONTAINER 11.3IN.L X 8.7IN.W X 

6.0IN.H 
STKRA
W 

3/12/19
97 

 1 N 
X39470742010 LABEL; WRG DIAG - PURIFIE STKRA

W 
1/24/19
94 

 1 N 
MOD00377 MODULE; LCOI PURGE RETROFIT HUMAN 

INTERFACE (MINUS COVER) 
STKSRV 6/18/19

98 
 1 N 

X39000912010 LABEL, PURGE CONTROL BOX STKRA
W 

1/24/19
94 

 1 N 
X39000574010 USE X39000671010 - LABEL; TRANE 2.5 X 3.68 STKRA

W 
1/24/19
94 

11/20/20
01 

1 N 
X39000907020 LABEL; PURGE HUMAN INTERF NLA 1/25/19

94 
11/22/19
99 

1 N 
270162070107 KIT, HUMAN INTERFACE, REMOTE MOUNT NLA 1/1/198

5 
9/2/1997 7 N 

X18100238020 BOX; RESHIP CONTAINER 11.3IN.L X 8.7IN.W X 
4.3IN.H 

NLA 9/27/19
95 

3/11/199
7 

1 N 
X18100345020 BOX; RESHIP CONTAINER 6.0IN. L X 6.0IN. W X 

3.8IN. H 
STKRA
W 

1/1/198
5 

9/26/199
5 

1 N 
 


